EARAROBREBRT —5 XN—ZXBISH—F 20224F785H (X)) 7EHEE4H

Wl ChsU—2 C2 HSZR4SE BRI R
[xE&] 1%&:350,000H  2&:112,000H  3#&:63,000H  43%&:42,000H  53&:28,000H
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- LLsEE : -2-2- - hEHE ((£5)
1| xrvavaaox 5 | FUE 1.(2_6).3 1-2-2-1 | 39.7 4 (433 ey
RiVELIF— B:XALYIUTTIRY FREHS
<, e Lo s 4 | LUEES 1:26.4 6-6-5-3 |39.4| — 3 424 | LUEE (EE)
2 g| 94V RAEF— rGK (/2) ) | A
RiFRXF B4V RN\YT BT 7—L4A
— <, g I8 : -1-1- - KEHK (8
3B 2 | TARIVRI—I LR R Pl ot M 1 2”84) SEEEA
R:TFAWNIPFE— B:F4RFT4VIUF FEER Y R
. o N HEBEA : -5-4- - REFAE (£8)
N NEEECPEEo i 6 = 1(72{1;1 5-5-4-5 | 40.5 2 (4_629) i i
R:ISRAOVT— B:RFSERT 4 — SH B
s5l5) 5| WFATILYA 4% 5 %gﬂoﬂa 1:(227).5 8-7-7-6 | 40.4| — 8 (z_t;tg) gggi (t£8)
R:vavFvhayy &:3VILT«7 g BE
= # 4 | BLUEH 1:27.9 7-8-8-7 | 40.1| -— 5 405 | EOEX (EE)
6111170747 54.0 (1/2) () |EEET
R:TD—LRI—R 8:hL/TU—To )1 45
; 1| mamA . 3-3- - oIS (£E)
717|7|=z29U—E—2 Ty 4| HK 1.(228).3 2-3-3-4 | 41.7 6 (4_93 %%§¥
RIVZIAI—ZZRI— B:FI—brDvay E BRI
IS : -4-6- - FEART (£8)
8 3 URLITPYU— 4 5 L 1.(2{;9).8 4-4-6-8 | 42.9 7 (3:’961) = GFPN;ET
R:IvIFIWRry s B:YLYYTIT7U— RS
@ 11— —BBIEfI
1T=zr= 6,7,2,3,4,8,1,5
20— — 2,6,7,3,4,8,5,1
30—7— 2,6,7,4,8,3,5,1
43—F— 6,2,8,7,4,5,1,3
o ILRE
B B 6 640M] JA R 6-8 480M4 B E 6-8 1,560 3EE 2-6-8 1,270
7B B 6 170 2-6 390 =51 6-8 3,510 3EH 6-8-2 9,260M
8 110 2-8 250/
2 130

ABIC OV TRUTEREERRODDZE. THRIIZEL.



